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=) UPCOMING ONLINE BATCHES

05 OCT 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

05 OCT 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

& www.mahendras.org

October 2022

12 OCT 2022 19 OCT 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

19 OCT 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

26 OCT 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

N 7052477777/7052577777









R=16>%, T=2years, A=14700rs,

Cl=7?




R=20%, T=2years, SI|=2800rs,
Cl=7




R=14Z%, T=3years, Cl-SI=
660rs, P=7




R=40%, T=3years, Cl=72,
50000




R = 37% %, T=3years, Cl=7,
102400rs




R= 7, T=2vyears, S|=8400rs,
= 8652rs




R = 6% %, T =3years,
if the difference between CI of 2" year and
3 year is 6400rs then find P ?




R=7°?, T=3years, Cl-3Sl=1500rs,

P =30720rs




R=20%, T year /3 days, CIl =

1240rs, P

1
?




R=142%, T=2year3month, P
Cl =4840rs




Half Yearly
]2T

2X100

Quarterly
]2T

2X100




R=20%, T=1_years, HY.Cl=
662rs, P=7?




R = 57; % T=9Months, Q.Cl=2
P = 68600rs




nvest one part at 15% per annum at simple interest anc
second part at 20% per annum at compound interest. If the
difference between interest of both the bank is 417rs then
find total invested money in two banks?

Th ATEHT G & I & dhi H 3 IS & [T Q99 FLar g Iie a8
U AT 3Rl ATETIOT TS 9G¥ 15% T a9 3T TEY AT Rl Thd i
SATST 9% 20% TTd 99 ot &< | {997 ¥ar gl Tie A1 dehi o AT
S T AT 417 T9F B, AT <0 Sl § [Ha9r =l T5 FieT gaiar A1

HoTa?




A man invest same money in two banks for 3 years. If he
invest one part at 15% per annum at simple interest and

second part at 20% per annum at compound interest. If the
difference between interest of both the bank is 417rs then

find total invested money in two banks?




CJ ' v v %

= Wie - Ve C JUUTIC
interest then find in how many years thls prlnC|pIe becomes .

64 times of the prlnC|pIe ?
e JAGT TR 5 SATST T 7 AT H & I[AT T AT
<)

T Toha e IO § I8 A&, g9 &1 64 A S




| interest then find in how many years this principle becomes .
81 times of the principle ?
A< TR g SATST ¥ HALT 11 T § A1 AT |1 AT €, T AT

ST Toh 78 A fohad ol § TAe T 81 AT &l ATAT 272




d U v v U S1U1 C C JUUTTC
Interest then find in how many years this principle becomes .
16 times of the prlnC|pIe ?

T AL A (AT 9 15 T H 1S AT 3T ST &, T AT Ao
o Tohd = AWl | T8 HAGT, AL T 16 AT 31 STAT 572




If principle bécomes 2.25tims in two years.

Then find rate % ?
Tie AL I a9l H 2.25 I[AT 21 ATAT 21 AT 3L Y% ST Fhiford?




I a principle becomes 3§times NRUICENCERS
find rate % ?

h




Some principle becomes 8000rs in 2 years and 27000rs in 5 X

years then find principle ?
Feg AT 2 Ui | 8000r 3T 5 aui H 27000r g1 AT &, qT FAYH

ATd 2





































